Available online at www.elixirpublishers.com (Elixir International Journal)

Discrete Mathematics

Elixir Dis. Math. 57A (2013) 14435-14438

A method for obtaining the nth derivative of a function of the form

 $y = l_1(x)l_2(x)l_3(x)l_4(x)$

O. O. Enoch and O.S.Falebita

Department of Mathematical Sciences, Ekiti State University, Ado-Ekiti, Nigeria.

ARTICLE INFO

ABSTRACT

Article history: Received: 9 November 2012; Received in revised form: 18 April 2013; Accepted: 24 April 2013; In this work, we make use of the well known product rule and Leibnitz's theorem to generate a new method which can be used to obtain the higher order derivatives of any functions which depends on four variables. The new method does not require the knowledge of the preceding derivative before obtaining the succeeding ones.

© 2013 Elixir All rights reserved.

Keywor ds

Product rule, Leibnitz's theorem, Derivative, numerical integrator.

Introduction

The newly emerging trends in engineering, sciences and technology demand the use of higher order derivatives of some functions. Importantly, in the implementation of some numerical integrators [1, 3, 4], the use of higher order derivatives of the interpolant involved is required.

Let $y = l_1(x)l_2(x)l_3(x)l_4(x)$ (1)

Then the first derivative of y using product rule is given as;

$$\frac{dy}{dx} = U \frac{dv}{dx} + V \frac{du}{dx}$$
(2)
Such that (2) implies;
$$\frac{dy}{dx} = l_1(x)l_2(x)\frac{d}{dx}\{l_3(x)l_4(x)\}$$
$$+ l_3(x)l_4(x)\frac{d}{dx}\{l_1(x)l_2(x)\}$$
(3)

If one replaces

$$\frac{d}{dx}\{l_{3}(x)l_{4}(x)\} and \frac{d}{dx}\{l_{1}(x)l_{2}(x)\}$$

with their Leibnitz's theorem expressions, one will obtain;

$$\frac{dy}{dx} = l_1(x)l_2(x) \left\{ \sum_{t=0}^{n-1} C_t^1 \left(\frac{d^{n-t}}{dx^{n-t}} l_3(x) \right) \left(\frac{d^t}{dx^t} l_4(x) \right) \right\} + l_3(x)l_4(x) \left\{ \sum_{t=0}^{n-1} C_t^1 \left(\frac{d^{n-t}}{dx^{n-t}} l_1(x) \right) \left(\frac{d^t}{dx^t} l_2(x) \right) \right\}$$
(4)

The second derivative of y is obtained from (2) as;

$$\frac{d^{2}y}{dx^{2}} = l_{1}(x)l_{2}(x) \frac{d^{2}}{dx^{2}}l_{3}(x)l_{4}(x) + 2\left\{ \left(\frac{d}{dx}l(x)l_{2}(x) \right) \left(\frac{d}{dx}l_{3}(x)l_{4}(x) \right) \right\} + l_{3}(x)l_{4}(x) \frac{d^{2}}{dx^{2}}l_{1}(x)l_{2}(x)$$
(5)

By using the Leibnitz's theorem expression for the derivatives in (5), one obtains:

$$= l_{1}(x)l_{2}(x) \left\{ \left\{ \sum_{i=0}^{n=2} C_{t}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \right\} + 2 \left\{ \sum_{i=0}^{n=1} C_{t}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\} \\ \left\{ \sum_{i=0}^{n=1} C_{t}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ + \left\{ l_{3}(x)l_{4}(x) \right\} \left\{ \sum_{i=0}^{n=2} C_{t}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\}$$
(6)
For the 3rd, 4th, and 5th derivatives, one obtains the followings

$$\frac{d^{3}y}{dx^{3}} = l_{1}(x)l_{2}(x) \frac{d^{3}}{dx^{3}} l_{3}(x)l_{4}(x) \\ + 3 \left\{ \left(\frac{d}{dx} l_{1}(x)l_{2}(x) \right) \left(\frac{d^{2}}{dx^{2}} l_{3}(x)l_{4}(x) \right) \right\} \\ + 3 \left\{ \left(\frac{d^{2}}{dx^{2}} l_{1}(x)l_{2}(x) \right) \left(\frac{d}{dx} l_{3}(x)l_{4}(x) \right) \right\} \\ + l_{3}(x)l_{4}(x) \frac{d^{3}}{dx^{3}} l_{1}(x)l_{2}(x)$$
(7)
And from (7), one obtains; $\frac{d^{3}y}{dx^{3}} \\ = l_{1}(x)l_{2}(x) \left\{ \left\{ \sum_{i=0}^{n=3} C_{t}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \right\}$

Tele: E-mail addresses: ope_taiwo3216@yahoo.com





^{© 2013} Elixir All rights reserved

$$\begin{cases} \sum_{i=0}^{n=1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \\ + 3 \left\{ \sum_{i=0}^{n=1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\} \\ \left\{ \sum_{i=0}^{n=2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ + l_{3}(x) l_{4}(x) \left\{ \sum_{i=0}^{n=3} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\}$$
(8)
Likewise one obtains

$$\frac{d^{4}y}{dx^{4}} = l_{1}(x)l_{2}(x) \frac{d^{4}}{dx^{4}}l_{3}(x)l_{4}(x)
+4\left\{ \left(\frac{d}{dx}l_{1}(x)l_{2}(x)\right) \left(\frac{d^{3}}{dx^{3}}l_{3}(x)l_{4}(x)\right) \right\}
+6\left\{ \left(\frac{d^{2}}{dx^{2}}l_{1}(x)l_{2}(x)\right) \left(\frac{d^{2}}{dx^{2}}l_{3}(x)l_{4}(x)\right) \right\}
+4\left\{ \left(\frac{d^{3}}{dx^{3}}l_{1}(x)l_{2}(x)\right) \left(\frac{d}{dx}l_{3}(x)l_{4}(x)\right) \right\}
+l_{3}(x)l_{4}(x) \frac{d^{4}}{dx^{4}}l_{1}(x)l_{2}(x) \qquad (9)$$

And by Leibnitz's theorem, (9) comminutes unto; d^4v $\begin{pmatrix} n^{n-4} \\ \nabla \end{pmatrix} (d^t)$

$$\begin{aligned} \frac{d^{4}y}{dx^{4}} &= l_{1}(x)l_{2}(x) \left\{ \sum_{i=0}^{2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ 4 \left\{ \sum_{i=0}^{n=3} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\} \\ \left\{ \sum_{i=0}^{n=1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ 6 \left\{ \sum_{i=0}^{n=2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\} \\ \left\{ \sum_{i=0}^{n=2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ 4 \left\{ \sum_{i=0}^{n=1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ l_{3}(x) l_{4}(x) \left\{ \sum_{i=0}^{n=4} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\} (10) \end{aligned}$$

Below we have the expression for the 5^{th} derivative:

$$\frac{d^{5}y}{dx^{5}} = l_{1}(x)l_{2}(x) \frac{d^{5}}{dx^{5}}l_{3}(x)l_{4}(x) + 5\left\{ \left(\frac{d}{dx}l_{1}(x)l_{2}(x)\right) \left(\frac{d^{4}}{dx^{4}}l_{3}(x)l_{4}(x)\right) \right\} + 10\left\{ \left(\frac{d^{2}}{dx^{2}}l_{1}(x)l_{2}(x)\right) \left(\frac{d^{3}}{dx^{3}}l_{3}(x)l_{4}(x)\right) \right\}$$

$$+10 \left\{ \left(\frac{d^{3}}{dx^{3}} l_{1}(x) l_{2}(x) \right) \left(\frac{d^{2}}{dx^{2}} l_{3}(x) l_{4}(x) \right) \right\}$$

$$+5 \left\{ \left(\frac{d^{4}}{dx^{4}} l_{1}(x) l_{2}(x) \right) \left(\frac{d}{dx} l_{3}(x) l_{4}(x) \right) \right\}$$

$$+l_{3}(x) l_{4}(x) \frac{d^{5}}{dx^{5}} l_{1}(x) l_{2}(x)$$

$$(11)$$
And by using Leibnitz's theorem, (11) becomes;
$$\frac{d^{5}y}{dx^{5}} = l_{1}(x) l_{2}(x) \left\{ \sum_{l=0}^{n=5} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{3}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{4}(x) \right) \right\}$$

$$+5 \left\{ \sum_{l=0}^{n=4} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$+10 \left\{ \sum_{l=0}^{n=3} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$+10 \left\{ \sum_{l=0}^{n=2} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$+10 \left\{ \sum_{l=0}^{n=2} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$+10 \left\{ \sum_{l=0}^{n=2} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$+10 \left\{ \sum_{l=0}^{n=2} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$+10 \left\{ \sum_{l=0}^{n=2} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$+13(x) l_{4}(x) \left\{ \sum_{l=0}^{n=5} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$+13 (x) l_{4}(x) \left\{ \sum_{l=0}^{n=5} C_{l}^{n} \left(\frac{d^{n-l}}{dx^{n-l}} l_{1}(x) \right) \left(\frac{d^{l}}{dx^{l}} l_{2}(x) \right) \right\}$$

$$(12)$$

Thus, for the nth order derivative, one obtains;

$$\sum_{r=0}^{n=m} C_r^m \left[\begin{pmatrix} \sum_{i=0}^{n=m-r} C_i^n \left[\frac{d^{n-i} l_2(x)}{dx^{n-i}} \right] \left[\frac{d^i l_4(x)}{dx^i} \right] \end{pmatrix} \\ \left(\sum_{i=0}^{n=r} C_i^n \left[\frac{d^{n-i} l_1(x)}{dx^{n-i}} \right] \left[\frac{d^i l_2(x)}{dx^i} \right] \right) \right]$$
(13)

Opeenoch's Theorem: Let

Let

$$y = l_1(x)l_2(x)l_3(x)l_4(x), y = l_1(x)l_2(x)/l_3(x)l_4(x)$$

$$y = \frac{l_1(x)}{l_2(x)l_3(x)l_4(x)}, \quad y = 1/l_1(x)l_2(x)l_3(x)l_4(x)$$
or $y = l_1(x)l_2(x)l_3(x)/l_4(x)$.
Then the nth derivative of y is given as
$$\sum_{r=0}^{n=m} C_r^m \left[\sum_{i=0}^{n=m-r} C_i^n \left[\frac{d^{n-i}l_3(x)}{dx^{n-i}} \right] \left[\frac{d^i l_4(x)}{dx^i} \right] \right] \left(\sum_{i=0}^{n=r} C_i^n \left[\frac{d^{n-i}l_1(x)}{dx^{n-i}} \right] \left[\frac{d^i l_2(x)}{dx^i} \right] \right) \right]$$
(14)

Proof:

Using Mathematical induction, it can be shown that for n=1, (3) and (4) hold.

So that it is true for n=1.

If it is true for n=1, it must also be true for n=2, such that (5) and (6) hold.

Now that it is true for n=1, 2, it must be true for n=k: d^{k}

$$\begin{aligned} \frac{d}{dx^{k}} &= l_{1}(x)l_{2}(x) \frac{d}{dx^{k}} l_{2}(x)l_{4}(x) + \\ & k \left\{ \left(\frac{d}{dx} l_{1}(x)l_{2}(x) \right) \left(\frac{d^{k-1}}{dx^{k-1}} l_{3}(x)l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)}{2!} \left\{ \left(\frac{d^{2}}{dx^{2}} l_{1}(x)l_{2}(x) \right) \left(\frac{d^{k-2}}{dx^{k-2}} l_{3}(x)l_{4}(x) \right) \right\} + \cdots \\ &+ \frac{k(k-1)(k-2)\dots(3)}{(k-2)!} \left\{ \left(\frac{d^{k-2}}{dx^{k-2}} l_{1}(x)l_{2}(x) \right) \left(\frac{d^{2}}{dx^{2}} l_{3}(x)l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \\ & \left\{ \left(\frac{d^{k-1}}{dx^{k-1}} l_{1}(x)l_{2}(x) \right) \left(\frac{d}{dx} l_{3}(x)l_{4}(x) \right) \right\} \\ &+ \frac{k!}{k!} l_{3}(x)l_{4}(x) \frac{d^{k}}{dx^{k}} l_{1}(x)l_{2}(x) \end{aligned}$$
(15)

The coefficients of the above expression are obtained by the binomial theorem. Thus;

$$\begin{aligned} \frac{d^{k}y}{dx^{k}} &= l_{1}(x)l_{2}(x) \left\{ \sum_{i=0}^{n-k} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ k \left\{ \left\{ \sum_{i=0}^{n=1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \\ \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \right\} \\ &+ \frac{k(k-1)}{2!} \left\{ \sum_{i=0}^{n=2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\} \\ \left\{ \sum_{i=0}^{n=k-2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} + \cdots \\ &+ \frac{k(k-1)(k-2)\dots(3)}{(k-2)!} \left\{ \sum_{i=0}^{n=k-2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2)}{(k-1)!} \left\{ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \right\} \\ &+ \frac{k(k-1)(k-2)\dots(2$$

 $\frac{d^{k+1}y}{dx^{k+1}} = l_1(x)l_2(x)\sum_{i=0}^{n=k+1} C_i^n \left(\frac{d^{n-i}}{dx^{n-i}}l_3(x)\right) \left(\frac{d^i}{dx^i}l_4(x)\right)$

$$+ (k+1) \begin{cases} \sum_{i=0}^{n=1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \\ \sum_{i=0}^{n=k} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$+ \frac{(k+1)(k)}{2!} \begin{cases} \sum_{i=0}^{n=2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{1}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{2}(x) \right) \\ \sum_{i=0}^{n=k-1} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$+ \frac{(k+1)(k)(k-1)}{3!} \begin{cases} \sum_{i=0}^{n=2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$+ \frac{(k+1)\dots(3)}{(k-1)!} \begin{cases} \sum_{i=0}^{n=k-2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$+ \frac{(k+1)\dots(3)!}{(k-1)!} \begin{cases} \sum_{i=0}^{n=k-2} C_{i}^{n} \left(\frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$+ \frac{(k+1)\dots(2)}{k!} \begin{cases} \sum_{i=0}^{n=k} \left(C_{i}^{n} \frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$+ \frac{(k+1)\dots(2)}{k!} \begin{cases} \sum_{i=0}^{n=k} \left(C_{i}^{n} \frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$+ \frac{(k+1)\dots(2)}{k!} \begin{cases} \sum_{i=0}^{n=k} \left(C_{i}^{n} \frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$+ \frac{(k+1)\dots(2)}{k!} \begin{cases} \sum_{i=0}^{n=k} \left(C_{i}^{n} \frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$\end{cases}$$

$$+ \frac{(k+1)\dots(2)}{k!} \begin{cases} \sum_{i=0}^{n=k+1} \left(C_{i}^{n} \frac{d^{n-i}}{dx^{n-i}} l_{3}(x) \right) \left(\frac{d^{i}}{dx^{i}} l_{4}(x) \right) \end{cases}$$

$$\end{cases}$$

$$\end{cases}$$

$$\end{cases}$$

$$\end{cases}$$

$$\end{cases}$$

$$\end{cases}$$

Thus, the opeenoch's theorem for the n^{th} derivative of y is given as

$$\sum_{r=0}^{n=m} C_r^m \left[\begin{pmatrix} \sum_{i=0}^{n-m-r} C_i^n \left[\frac{d^{n-i} l_3(x)}{dx^{n-i}} \right] \left[\frac{d^i l_4(x)}{dx^i} \right] \end{pmatrix} \right] \\ \begin{pmatrix} \sum_{i=0}^{n=r} C_i^n \left[\frac{d^{n-i} l_1(x)}{dx^{n-i}} \right] \left[\frac{d^i l_2(x)}{dx^i} \right] \end{pmatrix} \right]$$
(18)

Conclusion:

The algorithm can easily be simulated by writing subroutines for the independent variables involved.

The following points are obvious concerning the new method:

(i) The superscript n decreases regularly by 1

(ii) The superscript i increases regularly by 1

(iii) The numerical coefficients are the normal binomial coefficients.

For increased accuracy in most numerical methods that involve the use of higher order derivatives, this new method can be used to obtain higher order derivatives of the functions involved. The labor involved in calculating and evaluating higher derivatives through the use of this new method is very minimal, since you can jump the process of obtaining the preceding derivatives to the point of obtaining desired derivative (order).

References

Enoch ,O. O. A and Olorunsola, S. A. (2011): A new method for the evaluation of higher order Derivatives of three continuous and Differentiable functions; *Journal of the Nigerian Association of Mathematical physics Vol. 19, pp. 155 - 158.*

Enoch O. O.A and E.A. Ibijola (2011): A Self-Adjusting Numerical Integrator With An Inbuilt Switch for Discontinuous Initial Value Problems; *Australian Journal of Basic and Applied Sciences*, 5(9): 1560-1565, 2011, ISSN 1991-8178.

Olorunsola S.A. 2007. Ordinary differential equations. Calculus and Differential Equations. Lagos. Bolabay Publications. pp 111-112.

Stroud K.A., Dexter J.B.2007. *Differential Equations*. Engineering Mathematics.(Sixth Edition). Palgrave Macmillan. *pp* 1056-1071.